VII CLASS 2.FRACTIONS AND DECIMALS NCERT:2024-25

VII-MATHEMATICS-NCERT

CHAPTER
2. Fractions and Decimals (notes)

: https://sureshmathsmaterial.com/
1. Fraction: A fraction is a number representing a part of a whole. The whole may be a single object
or a group of objects

2. % is a fraction . Here 5 is called the numerator and 12 is called the denominator

Proper Fraction: In a fraction, the numerator is less than the denominator is called proper

fraction.
- _2 3 5
x.5,11,21,...

4. Improper Fraction: The fractions, where the numerator is bigger than the denominator are
called improper fractions.
7 13 35
X =, =, =, .
5'11'21
5. Mixed Fractions: Mixed fraction has a combination of a whole and a part.

. : ' . . . Remaind
6. The mixed fraction will be written as Quotlentw

Ex:3 : 1 a 2 -
x:3g, 197,257~
7. We can express a mixed fraction as an improper fraction as

2 (3x5+2 17

Divisor

(WholexDenominator)+Numerator

Denominator

3 (Ix11)+3 14
11 11 11
5 (2x21)+5 47
21 21 2

8. If we multiply ( or divide)the numerator and the denominator of the given fraction with same
number we get an equivalent fraction.

pen 2 4_6_10_
*()3=5=9 18"
3.6 29 15
e AT T T

9. Afraction is said to be in the simplest (or lowest) form if its numerator and denominator have
no common factor except 1.
10. Like fractions: Fractions with same denominators are called like fractions.

- 3111
X TT T
11. Unlike fractions: Fractions with different denominators are called unlike fractions.
- 35 2
Xt T
12. For two fractions with the same denominator, the fraction with the greater numerator is greater
= 7 - 4 11 . 10
¥575 23723

13. If the numerator is the same in two fractions, the fraction with the smaller denominator is

greater of the two.
7 7 1 . |

Ex:E>ﬁ’ §>E
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14. Addition and subtraction of like fractions:

£+X:x+y andf—z=x_y
a a a a a a

3 2 342 5
EXZ(L)7+7=T=7

.23 9 23-9 14
D35~3~"3 ~25

2 5 47 23 47423 70 7
(Lll)5§+2§=?+?= ~ :?=7§

15. Addition and subtraction of unlike fractions

x+y_x><b+y><a x y xXb—-yXa

a b axXb e E_E axXb
g2 l_2x4+1x3 8+3 11
¥3TETT 3x24 . 12 12

Multiplication of a Fraction by a Whole Number:
To multiply a whole number with a proper or an improper fraction, we multiply the whole number
with the numerator of the fraction, keeping the denominator same.

Ex (D2x>_2%5_10
I ==
iy Ixa—1X4_128
WSt TTE TS
Try THESE
1. Find the product. If the product is an improper fraction express it as a mixed fraction.
2 2X%3 6
fayXd = =y . 7
9 9x6 54 5 r 11)78
(b) il 7 777 (<)49 (—)ﬂi_
(©) 3 x 1 _ 3x1 _ 3 5 4
“°"8~ 78 8
@ 13x6_13><6_78_7 1
1177 11 1Y 11

2.  Represent pictorially :2 X é = %

2 2 2 4
SOZ'ZXE_§+§__

2
=+
5

Multiplication of a Mixed Fraction by a Whole Number:

To multiply a mixed fraction to a whole number, first convert the mixed fraction to an improper
fraction and then multiply.
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- (_)3x25_3x19_3x19_57_81
XA 7 "y g 7 93
(")2x42—2x22—44—84
X B~ SR T T M

TRy THESE
17 5x17 85

3
(i)5><27=5><7=

(")14x6—13><6—
H)gnP=9*P="7H 9

Fraction as an operator ‘of’ :  ‘of represents multiplication

Ex: ~ of 3=sx3=o=11
XgBl 3=gXb=g =iy

Try THESE

() Sof10=2x10
6 goii=3

1 1
1 3,
(i) Zof 16=7x16 ) i

2 2
(iii) gof 25 = 5>< 125 z z
Exp 1: In a class of 40 students % of the total number of students like to study English, é of the total

number like to study Mathematics and the remaining students like to study Science. (i) How
many students like to study English? (ii) How many students like to study Mathematics? (iii)
What fraction of the total number of students likes to study Science?

Sol: Total number of students = 40.

1 1 40
(i)Number of students like to study English = T of 40 = < X 40 = == 8
2 2 80
(ii)Number of students like to study Mathematics = < of 40 = < X 40 = == 16

(iii) The number of students who like English and Mathematics = 8 + 16 = 24

The number of students who like Science = 40 - 24 = 16.

16 2
Thus, the required fraction is 0°-¢%

5

Exercise 2.1

1. Which of the drawings (a) to (d) show :
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Sol: ()—(d) @@ —(®) @E)—-(a) (v)— (o)
2. Some pictures (a) to (c) are given below. Tell which of them show:
1 3 1 _2 3 1
) 3x—=2 i) 2x—== i) 3x7=27
(1) 5 5 () 3 3 (m) 1
/ , .
DR)-® AL @@ﬁ;
(a) )
—I—1=
e [ e I —
1 | H

Sol: (i) — (¢), (i) —(a), (iii) — (b)

3. Multiply and reduce to lowest form and convert into a mixed fraction:

b axb
Sol:ax—=

(& C
(')7><3—21—41 05 e 30 .
: 5 5 "B i) X6 =>=
(ii) 4><1—4—11 11 11><4—44—62
. 5 8 B (wit) 7 7 7
i) 2x 2 =12 _ 43 ("')20><4—80—16
(Lll) X7— 7 = = Vil 5_ z =
(_)5x2_10_11 - a el 13,1
v 999 = 3~ 3 '3
G CxmeCe2 (x) sxo_$_g
Y ~3= & B B

4. Shade: (i) % of the circles in box (a) (ii)% of the triangles in box (b)

(iii) gof the squares in box (¢)

-9866845885
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®®® o, EEEDOD
ggg AAA|l| HEEOQD

A A A
500 EEEOD
(a) (b) (c)
5. Find:

(')1 24=txoa =21

Dgof 24=gxzt=7=

s _ @ _ 46 _

(LL)E of46—2><46— = = 23

2 2 2 x 186
D3 0f 18=3 x18= =2%x6=12

6. Multiply and express as a mixed fraction :

1 26 3x26 78 3
(a) 3Xx5==3x—= =

=2 -152

5 5 5 5 5
) el o 27 _5x27 135 3

4 4 4 4 "Tp5
© Tx2lo7x 2 TX9_8_ .3
¢ 2= '3 "4 T2 "
@ axeloaxl2 2X19 76 N

3 3 3 3\
)31x6_13x6_13x63_39_191
() Sz Hh = Xo=— RSN =15
() 3lxgoUygol7X8_136 1
J) 3gxB8=5X8yg— =75 =273

7. Find:

(@ ) Lopad L, 1x11_ 113
R gardg=gX =t =8 15
i Lopa2 1, 38_1x38 38 19 1
W) ol 45=3%X 5= 3x9 " 18- 9 %3

5X23_5x23_1w__19
8 6 8x6 48 48

N 5
B of 32 =

(75 J2_5.29 5x29 145 _ 1
Wl 99~ %3 “8x3 2 °2i
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8. Vidya and Pratap went for a picnic. Their mother gave them a water bottle that contained 5 litres
of water. Vidya consumed % of the water. Pratap consumed the remaining water. (i) How much
water did Vidya drink? (ii) What fraction of the total quantity of water did Pratap drink?

Sol: Total water=?5 litres
: . 2 . 2 . 10 .
(i) Water drank by Vidya = T of 5 litres = < % 5 lifres = == 2 litres
(i) Water drank by Pratap = 5 — 2 = 3 litres

3
Fraction of water drank by Pratap = =

5
Multiplication of a Fraction by a Fraction:
Pieors s Heam e Product of numerators axc_aXC
R PR Product of Denominators ’ b"d bxd
@ 1x1_1><1_1 (i) 1X1_1><1_1
YOo2tTTIxT T 14 e NN Tx2 T
@ 1><1—1X1—1 () 1><1—1X1—1
W57 TEx7 35 N7 5T 7x5 35

Exp 2: Sushant reads %part of abook in 1 hour. How much part of the book will he read in 2% hours?

1
Sol: The part of the book read by Sushant in 1 hour = 3

The part of the book read by Sushant in 2 hour =2ix 1=l 10
5 5 3 5 3 5X3 15
Try THESE
Lyt lx4_4 i 2xl_2x1_ 2
Y37573x5 15 3% 8" 3%B 1B
(__)8x4_8x4_32 (_)3X2_3x2_6_
PERTY Awx7 @i Y33 Awma 12
Value of the Products:

For fractions —.— (VIF a7 < b then — <~ an@{RTf ap = b then — > —
orrac1onsb,yl f ay x enb yan ii) If ay x enb s

E o f _ i ﬁ Z 8 4 Product is less than each of the fractions
375 15 15 ° 5’15 5
l o E B i i = l 2 . E Product is less than each of the fractions
577 35 35 "5’35 7
E o Z B E 2 < E Z1 < Z Product is less than each of the fractions
578 40 40 5’40 "8
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2 4 8 8 28 4 Product is less than each of the fractions

53715 4553 "9

The value of the product of two proper fractions is smaller than each of the two fractions.

7 b 35 35 73 b5
3 X 26 B = 3 & > 2 Product is greater than each of the fractions
6 4 24 24 624 4
g - 3-15 18 > ST = g Product is greater than each of the fractions
9 7 63 63 9 63 7
2 X 2- 8 8 > 28 " 14 Product is greater than each of the fractions
3 8 24 24 324 8
2 x 7714 14 > 214 > 7 Product is greater than each of the fractions

The value of the product of two improper fractions is more than each of the two fractions.

2 7 14 14 214 7

375715 53155

6 2 12 3 3 63 2

5 * 8 40 10 10 = 5'10" 8 Product is greater than proper fraction and less
8 4 32 32 8 32 4 than improper fraction.
375715 53155

The value of the product of proper and improper fraction is less than proper fraction and greater
than improper fraction.

EXERCISE-2.2

1. Find
il 11 1 1 1xI\1 . 1.2 1.2 1x2_2
) 2% 1T I T NG @) 5o g=7%X37x9" 83
- 1.3 1.3 1x3 3 &) 16 1 6 1x6_6
2975755 1x5"-20 797 5=7%5 7x5" 35
()1 (1.4 1x4 4 © 1 3 1 3 1x3 3
) 29/3=3%3%1x3"12 ¢ 7 0=7%10" 710" 70
2. Multiply and reduce to lowest form (if possible)
" 2 ,2_2 8_2x8 16 . _9x3 27
b3R8 axg 8 Wl E™E Sx5 24
@ 2 7_2x%_2 - 1 15_1x15_15 5
" 7795 7Zx97 9 "V 8*8 3axs 24 8
(___)3)(6 3x6 18 9 11 3 11x3 33
— —_= = e— s — —_— X —— =
"8 2 T8x4 32 16 W) = X1~ 7x10 " 20
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i 4 12_4x12_48
YMIMEY T Ew7 o

3. Multilply the following fractions:

© Zxsl _2. 21 2x21_21 ()32)(4_17 4 _17x4_68
ORRRE T T T Exg 10 i IO T
il (2.7_32 7 32x7 224 - 3,5 13 3 _13x3 39
B g =5 3" Exa = =g E 71 Bx1 B
03 g1 3 16 3x16 8 g4 3 25 3 25x3 15
@) gx53=5Xz =533 =1" Wi) 35 xg="Xg="35 =7
- 5 ,3_5 17_5x17_85
W8T 6 7 B%7T 22
4. Which is greater
" 2 3 2 3_2x3_3 - 1 6 1,6 1x6 3
D gofy=5%3"7x2"12 ) F0fg=53%5=5%7"7
3 B 3 5 3%5 3 0 Ke2,3_2%x3_2
578 5%8 5x8 "8 395=3%7=3%7~7
5 8 9 .5 3.2_1 .6 t
§>E:> gofglsgreater 7 7 of is greater

3
’ 4 .
Find the distance between the first and the last sapling. i ]ﬁ & JE \\'1'\ JE
. . . 3 . \

Sol: The distance between two adjacent saplings = Zm - -

Total number of saplings=4 At T B
; ! ) 3 9
The distance between the first and the last sapling = 3 X Zm = Zm =2-m

6. Lipikareads a book for 1 % hours everyday. She reads the entire book in 6 days. How many hours
in all were required by her to read the book?

3 7
Sol: Lipikareads a bookin 1 day = 1Z h = ” h
Total days=6
7 6x7 21 1
Total hours taken by Lipika to read the book = 6 X 1-"71 -7 ° 10 > hours

7. Acar runs 16 km using 1 litre of petrol. How much distance will it cover using 2 % litres of petrol.

Sol: Car covers the distance using 1 litre of petrol=16 km
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3 3 i
Car covers the distance using ZZ litres of petrol = 2 7 X 16 km = T x16* =11x4=44km

8. (a) (i) ) Provide the number in the box[, such that% X |:| = %
(ii) The simplest form of the number obtained in O is___
¢ 1_2>< 5 _ 2X%X5 _10_1
37707 3%x10 30 3
(b) (i) ) Provide the number in the box[d, such that% X |:| = %

(ii) The simplest form of the number obtained in O is

.38 _3x8 24 8
O EX15T5%x15 75 25

Reciprocal of a fraction:
If the product of two numbers is 1, then they are called the reciprocals of each other.

Swap over the Numerator and Denominator we get reciprocal of the fraction.

axb—l
b " a

a
Th i lof —=—
e reciprocal of - = —

Tuamwk, Discuss ano WRITE

(i) Will the reciprocal of a proper fraction be again a proper fraction?

Sol: No, The reciprocal of a proper fraction is always an improper fraction.
2. . ! > T .
- is a proper fraction . Reciprocal of ~is ~ an improper fraction.

(ii) Will the reciprocal of an improper fraction be again an improper fraction?

Sol: No, The reciprocal of a proper fraction is always an improper fraction

9
T is an improper fraction . Reciprocal of T=35 is a proper fraction
DIVISION OF FRACTIONS
To divide a whole number by any fraction, multiply that whole number by the reciprocal of that
fraction.
Note: Reciprocal of & is 2
ote: Reciprocal of 7 s =
@ 7- 2_7x5_7><5_35_17
A St A I T
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PN T, 1 T P
o "7 TOXT T T T Ty
i) 228 2y 2 2X9_9_,1
HEE 'y 28" 8 4 “4

While dividing a whole number by a mixed fraction, first convert the mixed fraction into improper
fraction and then solve it.

- ienl g 02 B 4x 5 2
: “"EiET "3 "2 1z 3 3
” sk g 10_. 3 Bx3 3_ 1
W o33 =o53 =X~ 10 2~ 2
i 6a5L_g.16_¢ 3 _6x3 9 1
(it) BvSgg=b+g =BlEg=—p—=g=1g
i) 7aatog 18, 7 _7XT_49 13
e g = T AAYE T 18 18

Division of a Fraction by a Whole Number or another fraction

- 3,,.3,3_3 1_3x1_1
e T R R
o g%, 8.5 8 1 8x1 8
() 23+5=3+7=3X5=3%5~15
- 1.6_1 5 1x5_5
W) B 835 3xs 1B
Gy B.2_8,3.8x3 12 .2
W B 3TE 2T x2 Se G
, 3,13 2 3x2 %6 {1
W) 5+3=5X7T 5x1 515
i) 1.3_1 5 _1x5_5
Wl BTET 98" 9xd 6
(m)21‘3_5x5_5x5_25_41
mElS"8~8 33 2wa & B
- 1,931 9 31 2 31x2_31_ 4
) "B~ 6 2 69 6x9 27 27

ExERrcise 2.3

1. Find
. ,.3_12.3 12 4_ e
; *® 1°4 1°8 1x3 L

(i) Isgm—s-=T
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- g.7_8.7_8 3 8x3 24 3
P 3TIT3TINTTIx7 7 07
B L. 8_4 8 4 3 4x3 3 1

= "3 1°3 18 1x8 2 2
w3 ,1_3.7_3.3 3x3_9__

o 313 1.7 1x7 7.

\ g.gt 5,255 7 5x7 7 .2
et} S =T ~1%% IxzE & 5

2. Find the reciprocal of each of the following fractions. Classify the reciprocals as proper fractions,
improper fractions and whole numbers.

3
Sol: (i) Reciprocal of e Improper fraction

5 8
(ii) Reciprocal of g=c ™ Improper fraction
9 7
(iii) Reciprocal of =g Proper fraction
5
(iv) Reciprocal of £=g > Proper fraction
(v) Reciprocal of =13 " Proper fraction

1
(vi) Reciprocal of 5= 8 — Whole number

1
(vii) Reciprocal of — = 11 - Whole number

11
3. Find:
i Do P2 T 1 PR3 T_ i
R e T R e T A
- 4 _4.5_4 1_4x1_4
W g 2T 9 179757 9x5 45
i) S g 6.7 6.1 _6x1_56
W B ' TET1IT B 7T T 13x7 91
() alig 13,3 13 1 _13x1_ 13
Wl g~ =3 173737 3x3 9
) 3lia LA 7, 1 7x1 7
v) o= 1T 3T 2x4 8
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i) 43.g231,7_ 31 1 31x1_31
L, g~ =~ =77 77 28
4., Find:
o 2.1.2.2 2x2 4
Y 5727571 5x1 5
o 2.2_%,3_4x3 2
" 97375727 9x2" 3
3 8 3 7 3x7 3
(i) S+7=7%X8=7x8"8
i) 21 3_7,3_7 5_7x5_35_.7
Wl 53~ 5 "3 57 3"3 3x3 ©§ °§
a5 o 8_7.8_7 3 _7x3_21__ 5
V) 337372737278 2x8 16 16
i 22q1.2,3_2.2 2x2 4
YW E** a5 "2 5"3 5x3 15
(”)31‘12_16_5_16x3_16x3_48_1m
P Rl T F "3 B B EBxE =/ "%
(_q21'11_8‘6_8x5_8x5_4_1
e s~ B "B B B B8 B

Decimal numbers:

A decimal is another way of expressing a fraction. The dot or the point between the two digits is
called the decimal point. Number of digits after the decimal point is called the number of decimal
places.

Whole number part é_@ @_) Decimal part
greater than or equal to “0” T . Isalways less than“l

[ Decimal point ]

The number of digits after the decimal point in the decimal numeral is equal to the number of zeros
after 1 in the denominator of the corresponding common fraction.

) =0.4 - =0.02 o =0.037 426—426 527—527 784'—0784
10 7 100 7 1000 777 100 77 10 T 1000

Multiplication Decimals:

The number of decimals digits in the product of any two decimal numbers is equal to the sum of
decimal digits that are multiplied.

Try THESE
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1. Find:
(i) 27 x4=108
(i) 1.8 x 1.2=2.16
(iii) 2.3 x 4.35 =10.005
2. Arrange the products obtained in (1) in descending order.
Sol: The products in descending order:,10.8, 10.005, 2.16,
Exp 3: The side of an equilateral triangle is 3.5 cm. Find its perimeter.
Sol: Length of side=3.5 cm
Perimeter of equilateral triangle =3Xside=3%3.5cm=10.5 cm

Exp 4: The length of a rectangle is 7.1 cm and its breadth is 2.5 cm. What is the area of the rectangle?

7.1

Sol: Length(l) = 7.1 cm and Breadth(b) = 2.5 cm g
355

Area of the rectangle = 1 X b = 7.1 X 2.5 cm? = 17.75 cm? 142X
17.75

Multiplication of Decimal Numbers by 10, 100 and 1000:

when a decimal number is multiplied by 10, 100 or 1000, the digits in the product are same as in the
decimal number but the decimal point in the product is shifted to the right by as, many of places as
there are zeros over one.

1.76 x 10 =176 12.356 X 100 =1235.6 0.3x10=3
2.35 x10 =23.5 1.76 X 1000 =1760 1.2x100=120
12.356 X 10 =123.56 2.35 1000 = 2350 56.3x1000=56300
1.76 x 100 =176 12.356 X 1000 = 12356
2.35 x100 =235 0.5x1000=500
EXERCISE-2.4
1. Find
(i) 0.2x6=12 (iv) 20.1 x 4 = 80.4 (vi) 2% 0.86 = 1.72
(i) 8% 4.6 =36.8 (v) 0.05x7 =0.35
(iii) 2.71x 5 = 13.55 (vi) 211.02 x 4 = 844.08

2. Find the area of rectangle whose length is 5.7cm and breadth is 3 cm.
Sol: Length(l) = 5.7 cm and Breadth(b) = 3 cm
Area of the rectangle =1 X b = 5.7 X 3 cm? = 17.1 cm?

3. Find:
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(i) 1.3 x 10 =13 (v) 31.1 x 100 = 3110 (ix) 0.5 X 10 =5

(i) 36.8 x 10 = 368 (vi) 156.1 x 100 = 15610 (x) 0.08 x 10 = 0.8
(i) 153.7 x 10 = 1537 (vii) 3.62 x 100 = 362 (xi) 0.9 X 100 = 90
(iv) 168.07 x 10 = 1680.7 (viii) 43.07 x 100 = 4307 (xii) 0.03 X 1000 = 30

4. Atwo-wheeler covers a distance of 55.3 km in one litre of petrol. How much distance will it cover
in 10 litres of petrol?

Sol: The distance covers by a two wheeler in 1 litre of petrol=55.3 km

The distance covers by a two wheeler in 10 litre of petrol=10x55.3 km=553 km

5. Find:

() 2.5x%0.3=0.75 (v) 0.5x 0.05=0.025 (ix) 101.01 x 0.01 =1.0101
(i) 0.1x51.7=517 (vi) 11.2 X 0.15= 1.68 (x) 100.01 x 1.1=110.011
(i) 0.2 x 316.8 =63.36 (vii) 1.07 x 0.02= 0.0214

(iv) 1.3 x3.1=4.03 (viii) 10.05 x 1.05=10.5525

DIVISION OF DECIMAL NUMBERS:
Division by 10, 100 and 1000

While dividing a number by 10, 100 or 1000, the digits of the number and the quotient are same but
the decimal point in the quotient shifts to the left by as many places as there are zeros over.

31.5+ 10=3.15 31.5+100=0.315 31.5+1000 =0.0315
231.5+10=23.15 RING + 10 =23.15 231.5 + 1000 =0.2315
1.5+10=0.15 1.5+ 100 =0.015 1.5+ 1000 =0.0015
29.36 + 10 =2936 29.36 =100 =0.2936 29.36 +1000 =0.02936
Try these

(i) 2354+ 10=23.54
(i) 235.4 +100 =2.354
(iii) 235.4 + 1000=0.2354

Division of a Decimal Number by a Whole Number:

B Eel= = B 3.2 11.9 85 . Sl
4 - ' 264 3357  3)255 513'15
(ii) 35.7+3 = 11.9 b 3 2 31
4 3 13 _s
@) 255 = 8 = BS 0 27 0 15
— 27 — Ab:
(iv) 43.15 + 5 = 8.63 0 _0
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13.74

(v) 82.44 + 6 = 13.74 31 3.24
6522.44 5155 751%6.35 N12.96
18 0 56 0%
(vii) 126.35 ~ 7 = 18.05 4 _5 03 —=,
42 0 0 15
(viii) 12.96 + 4 = 3.24 By 3 =
24 35 —
Exp 5: Find the average of 4.2, 3.8 and 7.6 0 0

Sum of observations _ 42+ 3.8+7.6 _ 15.6 _

Number of observations 3 3 o

Sol: Average =

Division of a Decimal Number by another Decimal

b s g 235%10 255
e N T A
b gps . qs  225X10 225
XL IS =10 15
Try THESE

- 775 _775%100 775

Y 025 025x100 25
i 428 _428x100 4280
o002 002x100 2
i 56 _56x10 56 _
"oTaT14x10 14

Exp 6: Each side of a regular polygon is 2.5 cm in length. The perimeter of the polygon is 12.5cm. How
many sides does the polygon have?

Sol: Length of each side of polygon = 2.5 cm

perimeter of the polygon 125 125

= = = 5
Length of each side of polygon 2.5 25

Number of sides of the polygon =

Exp7 :A car covers a distance of 89.1 km in 2.2 hours. What is the average distance covered by itin 1
hour?

Sol: Distance covered in 2.2 hours=89.1 km

89.1 891 81

ﬁ =—=40.5km

Distance covered in 1 hour = o )

[ EXERCISE-2.5 ]

1. Find:

(i) 0.4+2=0.2 | (i) 0.35+5=0.07
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(iii) 2.48 + 4 =0.62 (vi) 14.49 + 7 =2.07

(iv) 654 +6=10.9 (vii) 3.96 + 4 =0.99

(v) 651.2 +4=162.8 (viii) 0.80 + 5=0.16

2. Find:

(i) 4.8+10=0.48 (v) 272.23 + 10 =27.223
(i) 52.5+ 10 =52.5 (vi) 0.56 + 10 =0.056
(iif) 0.7 =10 =0.07 (vii) 3.97 +10=0.397

(iv) 33.1+10=3.31

3. Find:

(i) 2.7 +100=0.027 (iv) 432.6 + 100 =4.326
(i) 0.3 + 100 =0.003 (v) 23.6 +100=0.236

(i) 0.78 + 100 =0.0078 (vi) 98.53 = 100=0.9853
4. Find

(i) 7.9 = 1000 =0.0079 (iv) 128.9 + 1000 =0.1289
(i) 26.3 + 1000 =0.0263 (v) 0.5 + 1000=0.005

(iii) 38.53 = 1000 =0.03853

5. Find:

O 75350l X100 70

) T T e T I x NS
(D36 » 0.2 38 36X10_360
B T AT 02T02x10 2

325 325%x10 325
05 05x10 5

30.94 30.94x10 309.4

(iii) 3.25 +~ 0.5 = 6.5

(19)30.94 + 0.7 = = = — = = 442
i =gy _ U5 _ 0EX100 B0
(@)0.5 = 0.25 = =c =025 x 100 _ 25
s o g 005 EBX0_998 .
W) 7.75 = 0.25 = oe = o5 %100~ 25
765 765 x100 7650
(vii) 76.5 + 0.15 = =510

015 0.15x100 15
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37.8 378x10 378
1.4  14x10 14

(viii)37.8 +~ 1.4 = =27

273 273x10 273
= =——=21

ix) 2.73 - 1.3=22_ i
) 13 13x10 13

6. A vehicle covers a distance of 43.2 km in 2.4 litres of petrol. How much distance will it cover in
one litre of petrol?

Sol: Vehicle covers distance in 2.4 litres of petrol=43.2 km

43.2 432
Vehicle covers distance in 1 litre of petrol = SE -9 18km
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